

Annual Mosquito Control Chemical Contract (#7559251)

Owner: Baytown TX, City of

Solicitor: Baytown TX, City of

03/02/2021 02:00 PM CST

**Clarke Mosquito
Control Products,
Inc**

| Section | Title | Item Description | UofM | QTY | Unit Price | Extension |
|---------------|-------|---|--------|-----|-------------|--------------|
| Chemical List | | | | | | \$352,648.95 |
| | | Ready to Use Pyrethroid with Synergist, 4%-8% | EA | 4 | | |
| | | Premixed Item-Pyrethrin with Synergist, 5%-25% 275 gallon tote | EA | 1 | \$73,686.25 | \$73,686.25 |
| | | Carrying oil for Pyrethroid mix, 275 gallon totes | EA | 4 | \$2,475.00 | \$9,900.00 |
| | | Biological Mosquito Larvicide Briquettes Bacillus thuringiensis subspecies israelensis Strain BMP 144 solids, spores and insecticidal Mosquito larvicide growth regulator Granular, 21 day Altosid XR-G 40 pound bag | Case | 100 | \$290.00 | \$29,000.00 |
| | | Mosquito larvicide growth regulator Pellets (WSP): 30 day Altosid WSP 800 pouches per case | EA | 100 | \$361.60 | \$36,160.00 |
| | | Mosquito larvicide growth regulator Liquid (SR-5): 5% Methoprene | Case | 50 | \$704.00 | \$35,200.00 |
| | | Biological mosquito larvicide Bti liquid, 8% minimum 2.5 gallon container | Gallon | 30 | \$264.45 | \$7,933.50 |
| | | Liquid larvicide oil, 10% Mineral oil 2.5 gallon container | EA | 80 | | |
| | | Fyfanon EW Insecticide, 40.9% Malathion 30 gallon containers | EA | 4 | \$62.35 | \$249.40 |
| | | Duplex-G, bacillus thuringiensis Subspecies israelensis strain BMP solids, Spores and insecticidal toxins, 5.35%, VectoBac WDG | EA | 15 | | |
| | | AM 65-52 fermentation solids, spores and Insecticidal toxins, 37.40% | Ea | 25 | \$575.60 | \$14,390.00 |
| | | Fyfanon ULV Insecticide Malathion 96.5% | Drum | 30 | | |
| | | Other Ingredients 3.5% | EA | 6 | | |

| | | | | |
|--|--------|----|-------------|-------------|
| Biological Mosquito Larvicide Liquid suspension Spinosad 22.5%, other 77.5% Pyrethroid with Synergist 3% - 15% | Gallon | 60 | \$1,128.33 | \$67,699.80 |
| 275 gallon tote | EA | 4 | \$19,607.50 | \$78,430.00 |
| Base Bid Total: | | | | \$0.00 |

**Target
Specialty
Products**

**ADAPCO
LLC**

Veseris

| Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
|-------------|--------------|-------------|--------------|-------------|--------------|
| | \$176,982.50 | | \$329,130.05 | | \$248,740.18 |
| \$7,150.00 | \$28,600.00 | | | \$5,225.00 | \$20,900.00 |
| \$48,262.50 | \$48,262.50 | \$47,979.25 | \$47,979.25 | \$49,912.50 | \$49,912.50 |
| \$1,894.75 | \$7,579.00 | \$2,029.50 | \$8,118.00 | \$1,773.75 | \$7,095.00 |
| \$358.00 | \$35,800.00 | | | \$361.60 | \$36,160.00 |
| \$688.00 | \$34,400.00 | \$1,300.00 | \$65,000.00 | \$704.00 | \$35,200.00 |
| \$264.45 | \$7,933.50 | | | \$264.45 | \$7,933.50 |
| | | \$105.00 | \$8,400.00 | \$100.00 | \$8,000.00 |
| \$78.75 | \$157.50 | \$24.75 | \$99.00 | | |
| | | \$1,638.30 | \$24,574.50 | | |
| \$570.00 | \$14,250.00 | | | \$575.60 | \$14,390.00 |
| | | \$934.25 | \$28,027.50 | \$1,595.00 | \$47,850.00 |
| | | \$16,764.80 | \$100,588.80 | \$66.53 | \$399.18 |

